Basic Pad ZP Series
Mounting Bracket Assembly

Adapter Assembly: Vacuum Inlet Direction Vertical Type/ZPLIT

(With gasket)

ZPT1-AC]
MS-5AU-6-X112
ZPT(2, 3, 4)-ASC]

(®Adapter

[ ;ﬁ (®BMounting nut

¥

ZPT(1, 2, 3, 4)-BLY/

(With mounting nut)

NO01/TO1

Product ZPOTO@0O-03
part no. _l_ _l_

Adapter material (Brass/Stainless steel) Connection thread (Male/Female thread)

Pad diameter
Pad form Pad material

Component Male thread Male thread Female thread
parts ©Gasket .

@®Adapter ‘ _‘7 (®Adapter

®Adapter ZPT(2, 3, 4)-A]
(O-ring)
ZPT(2, 3, 4)-AGO
02 [04 [ 06 | 08 [ 10 [ 13 |16 | 10 [ 13 | 16 [ 20 [ 25 | 32 | 40 [ 50
Flat type Ul e | o | e | e | — | — | e/ e oo eoe|e e
Flat type with ribs c|l—|—-—|—-1]1=-1=-1=-1= [ [ [ [ [ ] [ ] [ ) [ )
Bellows type B| — | — [ J () = | =] = () [ J [ J () [ J [ J [ J [ J
Pad form Thin flat type urt| — | — | — | — [ J () () = | = | = =ll=l=Il=|=
Thin flat type with ribs cT| — | — | — | —| @ [ ] [ ] =|l=l=|l=Il=|l=I=1=
Deep type D| — | —|—-1]1=-1=|1-=/1= [ J = [ J = [ J = [ J =
Adapter| Brass ZPT1-A5 ZPT2-A5
M X 0.8 L ol Sianloss sodl] A5 MS-5AU-6-X112 ZPST2-A5 —
g M5 x 0.8 AS5 — ZPIT2-AS5 ZPLIT3-AS5 —
z M6 X 1 A6 ZPOT1-A6 ZPOIT2-A6 ZPOT3-A6 | ZPLIT4-A6
o I AS6 — ZPIT2-AS6 ZPOIT3-AS6 | ZPLIT4-AS6
L = M8 x 1 A8 — — ZPOIT3-A8 | ZPLIT4-A8
. e G1/8 AGO1 — ZPOT2-AGO01 | ZPLIT3-AGO1 —
4 S G1/4 AGO02 — — — ZPLIT4-AG02
g K M4 x 0.7 B4 ZPLIT1-B4 —
é 2 M5 x 0.8 B5 ZPOT1-B5 ZPOT2-B5 ZPOT3-B5 —
5 M6 x 1 B6 — ZPIT2-B6 ZPIT3-B6 | ZPLIT4-B6
8 E M8 x 1.25 B8 — — ZPIT3-B8 | ZPLIT4-B8
& Rc1/8 BO1 — ZPOT2-B01 ZPOT3-B01 | ZPLIT4-BO1
g NPT1/8 NO1 — ZPT2-NO1 ZPT3-NO1 ZPT4-NO1
i NPTF1/8 T01 — ZPT2-TO1 ZPT3-To1 ZPT4-TO1
G1/8 BGO1 — ZPOT2-BG01 | ZPLIT3-BGO1 —
G1/4 BG02 — — — ZPIT4-BGO02
T 8| o M5 x 0.8 — NTJ-015C -
2| s M6 x 1 — SNJ-006C
£l | ™ M8 x 1 — — RB08J
E|8|3_ M5 x 0.8 — ZPSNA-M5 —
2| 8|8 M6 x 1 — ZPSNA-M6
LB° M8 x 1 — — [ ZPSNA-M8
= | 3 10 pcs.*1 ZP-5G2 —
% % ﬁ LR R 100 pcs.*1 M-5G2 —
5| E| @ 10 pcs.*1 ZP-6G2 —
|3 For M6 x 1 100 pes.*! M-6G —
3| 8|24 Foms5x08 10 pes.*1 M-5G3 —
©|2|5* Formext 1 pc.*1 M-6G-X34 —

x1 The gasket (single unit) sales unit is shown.

®121




